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1 Whlch among the following districts of 1.

Haryana has the least number of Gram
Panchayats ?

(A) Panchkula (B) Gurugram

(C) Rohtak $p) Faridabad
2. The number of cervical vertebrae present
in Horse is
A7 (B) 8
(C) 14 (D) 18

3. Blood collection site in cattle is
(A) Carotid artery  (B) Saphenous vein
(G Jugular vein (D) Mammary vein

4. “Curled-toe paralysis” in birds is due to the
deficiency of

,.‘(A) Riboflaving,  4B) Thiamine (5

(C) Niacin 3, (D) Vitamin D
5. Complete the series.
1,1,2,35'813, 2
(&) 20 (B) 21
(C) 22 (D) 23
6. is the only perenn‘hlﬁVer
flowing in Haryana.
(A) Ghaggar (B) Hakﬁi‘"
(G) Yamuna (D) Markanda

@ Inap-type semioonductor,’&&uch one of the
following statements is true ?

(A) Electrons are majority carriers and
trivalent atoms are the dopants

(B) Electrons are minority carriers and
pentavalent atoms are the dopants

(C) Holes are minority carriers and
pentavalent atoms are dopants

(D) Holes are majority carriers and
_~ trivalent atoms are the dopants
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8. i
Which among the following is a tributary of

10.

1.

13.

14.
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river Ghaggar in Haryana ?
(A) Chautang B) Saraswati

(C) Aruna (D) Nagafgarh

Act of parturition in sheep is called as

(A) Kittening (B) Calving

(C) Lambing (D) Kidding

There are airports in H

as of 2021. o
4A) 3 (8) 7

(C) ° (D) 19

Castration means

(4) Removal of testicles glands that
produce male germ cells

) Removal of extra teats of anim

of animals

@B als
(c) Removal of horn

(D) None of these

¥

|deal dry period in crossbreed cattle is

(A) 60 days 4B) 45;(;ay's

(C) 30 days (D) .90 days

Th Constitutional Amendment that '
increased the age of retiremgnt of High
Court Judges from 60 to 62 1S

(A) 15" 4B) 55"

() 86" (D) 21*

is @ _
database that yields information-
(A) Filter 4B) Query

(D) Table

(C) RBOOfd
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15. A water molecule has an electric dipole
moment 6.4 x 10-* cm when it is in vapour
state. The distance in metre between the
centre of positive and negative charge of

the molecule is
(A) 4 x 10" (B) 4x 10"
};’) 4 %1012 (D) 4 x 10"

16. Which among the following city of Haryana
is called as golden city ?

(A) Ambala AB) Sonipat
(C) Hisar (D) Rohtak
17. In 1833, British formed a new North Western

province with as its Headquarters
" 11to which Haryana belonged to

(89 Meerut
(C) Lahore

(B) Amritsar
(D) Agra

18. ‘Erythraean’ was the Greek name tﬁrxthe

(A) Mediteranean Sea :
N
_AB) Red Sea *§‘ .
(C) Black Sea R\
(D) Indian Ocean A“::\t

19. Tallest breed of sheep
_AA) Mandya (B) Deccani
(C) Nellore (D) Bellary

20. India had invited who among the following

as Chief Guest for Republic Day Parade
20217

(A) Boris Johnson, Prime Minister of UK

(B) Kamala Harris, Vice President of USA

{£) Justin Trudeau, Prime Minister of Canada
(D) None of the above
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Wi
uh e a1y @1 forga faygea et ATy
st it 6.4 x 10-% cm B | 38 310 F TAATCHF
it ST AT % 7 % ofrd et A gh
w1 anft ?
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26.

Identify the name of the Nobel Laureate.
He was born in Raipur, Punjab (now in
Pakistan).
His invention in the field of Medicine-
interpreting the genetic code and analysing
its function in protein synthesis — fetched
him the Nobel Prize for Medicine in 1968.

‘SA) Hargobind Khorana
(B) Subramanian Chandrashekhar
(C) Chandrasekhara Venkata Raman
(D) None of the above

Adult female pig is called as

(A) Cow (B) Sow
(€) Boar (D) Gilt
Act of mating in sheep is called as
(A) Ramming 4B) Eweing
(C) Tupping (D) Coupling
In cat Feline Infectious Peritonitis (FIP) l?
caused by .\; O
(A) Lyssa virus (B) Picomo%(:é‘
g) Coronavirus (D) Orbi ¥
ife span of RBCs i $
(A) 200 days @) 120 days
(C) 85days (D) 150 days

trict of |

Manganese is found in which dis

Haryana ?
i (B) Mahendragarh

25.

26.

27.

(A) Hisar

(C) Karnal (D) Gurugram
Os penis is found in

4) Dog (B) Buffaloes
(C) Cattle (D) Sheep

22.
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28. Pashmina is produced from

breed of goat.
(A) Jamnapuri @) Chegu ‘
(C) Nellore (D) Changthangi

29. Act of mating in cattle is known as
‘(A) Coupling
"o8) Serving
(C) Tupping
(D) None of the above

30. " Refresh rate is measured in
cycle per second.
(A) Kilo Bytes
(C) Nano Seconds

(B) Mili Seconds
(P) Hertz

31.

or in

does not undergo Friedel-

Craft reaction due to salt formation with

Aluminium Chiloride.
~ (A) Aniline

(C) Benzene (D) Toluene

32.  Faulty milking method in dairy ammals ts
i #A) Knuckling (B) Smpmng
(C) Full hand milking (D) Maehlne vein
tisd \-A
33. The value of (&7: 542)‘ —(32 a58) |
76458 - 40.374
—B) 10
(D) None of these

(A) 1
(C) 100

AB) Chlorobenzene
)

34, Which of the following lakes is a wildlife

* sanctuary in Haryana ?

(&) Badkhal (B) Damdama
(C) Bhindawas (D) Karnal

35. Allthe computer’s resources are managed

from the unit.
AA). Control (B) Input
(C) Arithmetic Logic (D) Output
tb‘
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36. Which of the following breed is native to | 36 fotferfiaa % # e A
Karnataka ? qie ! v
(A) Tharparkar (B) Toda (A) AT (s; et
{C) Kankrej (D) Hallikar (C) FH ( fwh B
37. “Goose stepping’ in pigs is related to | 37. gardf # L i Mg
deficiency of Fafed 2 | ®) e
(A) Pyridoxine _4B) Biotin (A) arreiae ucis
aa O
(C) Pantothenic acid (D) Manganese (©) a8 P
aﬁ ’
38. In addition to the cache memory built into the |  38. mﬁ ﬁ‘fgﬂ Tt 21 ‘Taﬁﬁé et
CPU, cacheis also added to the motherboard. weEre A ] el 2l
This Motherboard resident cache is now = il AY /’;%’
called () G- (zet1)
(A) Level-1 (L1) Cache (©) F7-2 (T2 )
(B) Level-2 (L2) Cache 5 Saer-d(T3) Eacl
(C) Level-3 (L3) Cache (© "‘_.07(@0)3"‘"
" (D) Level-0 (LO) Cache (D)}f)&f' 5
39. Youngone of sheep 1S called as ?:( oM (B) =1
(A) Calf (B) Kid 2 ) ﬂrFlT (D) ®I
(©) Lamb (D) Foal ,.«.\f’\-’m (€)
ikhet disease in birds is caused'QS’i'}% T R o /m
40. Ranikhet di LVl i |
(A) Influenza virus ; $ o (A) FRIES Y
B) Paramyxovirus & (B) W
(C) Picornovirus ‘$ (€) foeprt fareTy
(D) Coronavirus (D) pICHT f J
» o . Eq_fa.q'
41. Ofthe four numbers, whose averageis 60, [ 41 Wmaﬁmfim“ 60%’@ &
" the firstis one-fourth of the sum of the last F Uk %’ a1 geelt T 41 27
three. The first number is 4
(A) 15 (B) 45 ﬂ (A) 15 (B) 45
);'.)/48 () 60.25 -, \; (C) 48 (D) 60.25
L)
42. In Haryana Momi and Tipra ranges are Va2, ghamm & wic o fea D
separated by the valley of # a7t g 9 )
(2) ;::::,::‘:;re (g) Ghaggar ri\{er (A) qg;nqa (B) AL el
(©) r (D) Markanda river (C) Tt 7 (D) WS A
o s
rzyb@ . 5 # 7 %(@' (m’)( (LqL B
W\ % : R
w® %

o 0 {
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43.

47.

49.

The Category of land classified by Akbar
which is annually cultivated for each crop in
succession and never allowed to lie fallow
(A) Chachar (B) Parauti

(C) Banjar (D) Polaj

R2B vaccine strain used in which of the
following disease ?

(A) Infectious bronchitis
_(B) Ranikhet disease

(C) Salmonellosis

(D) Avian Influenza

In Haryana Vedic Drishadwati river is also
known as
(AY Saraswati
(C) Ghaggar

(B) Markanda
(D) Sahibi

Which one of the following animal diseases
has been eradicated from India ?

(A) Avian influenza

(C) Fowl pox (D) FMD \

Period from conception to ea[,tsl,jri.t,,ion is
called O\C
(&) Gestation period O
1 @ '\\\é !

(B) Dry period ‘::5

. 4 &\ Y
(C) Calving peno%;
(D) Lactation peri

Indian Veterinary Research Institute is
located at
() Izatnagar, Uttar Pradesh

(B) Hisar, Haryana
(C) Avikanagar, Rajasthan
(D) Kamnal, Haryana

Central Institute of Research on Goat is
located at
(A) Hisar
(C) Kamal

(B) Avikanagar
(D) Makdhoom

(B) Rinderpest
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l‘:ecritight to Information (RTI) Act has been
acted and has came into force from

) 15 June, 2005

(B) 20 April, 2008

(C) 19 March, 2005
(D) None of the above

Dehorning means

(A) Removal of eye of animals

(B) Removal of extra teats of animals
() Removal of horn of animals

(D) None of these

Revolt of 1857 against the British Govt. was

first began at in Haryana.
(A) Hisar (B) Rohtak
() Ambala (D) Mahendragarh

Which is the famous fine wool breed of the

world ?
(A) Gaddi
) Merino

(B) Saanen
(D) Ramboulliet ‘

umber of two digits has 3 for its unit’s

An
digits is,_'-i _of the

digit and the sum of
er itself. The number IS\,
WV
(B). 53
(D) 73

the skeleton is

numb:

(A) 43
(C) 63

The largest long bone in
(A) Tibia

(B) Humerus

() Femur

(D) Radius and Ulna
Find out the number of terms in the series.

1,6, 11, 16, ...,101

(A) 19 4B 21
(C) 20 (D) 23
\Y
D)
[T 2
“We. & L S
‘:: “lu\y“&)‘ :J\ O (qu

% "\r{j/'
el 15/2019 (11)
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() 63 (D) 73
55. e 1 g e 581
(A) fefem
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1,6, 11, 16, ..., 101
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All India Radioat _____is the oldest radio
station of Haryana.

(A) Kurukshetra (B) Hisar

(C) Ambala D) Rohtak

What does an indirect tax GST stands for 7
{A) Goods and Service Tax

(B) General Service Tax

(C) Goods and Sales Tax

(D) None of the above

The enlargement of the esophagus is
called as

(A) Gizzard 48) Crop

(C) Cloaca (D) Proventriculus
Who among the following Chinese pilgrim
visited Haryana in 7 Century ?

(A) Hsi-yu Chi (B) Hiuen Tsang
(C) Fa-hien (D) Markpolo

Who established Chisti Order in Ha
(A) Baba Farid
(B) Mohd. Bakhtiar Kaki- '
{€) BooAli Shah X
(D) Sharfuddin QY

QAN
Choose the number.which is similar to the
numbers iz theﬁgi\ié*ﬁbset.
8:28 2277
(A) 8

(B) 28
(C) 64

D) 65

a famous lake
mentioned in the 11t

Al-Beruni called ‘Kita
(A) Badkhal

(B) Damdama

(@) Brahma Sarovar
(D) Kama

of Haryana was
Century memoirs of
b-ul-Hind'.

ryang?)
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61. zﬁqmﬁﬁwﬁaﬁmﬁmwﬁa%m?
(A) STaT i
(B) Hrewe afSqam Frh
(C) 9 37t wrz
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|
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Which among th
voice box of bgird '? f0"0""‘“9 is called as
A) La
- e (B) Pharyn
AD) Syrinx
In Haryana

——— s celeb
welcome rain season. rated to

(A) Gangore
(C) Teej

(B) Gugga Naumi
(D) Baisakhi
Scientific name of goat is

4A) Capra hircus
(C) Sus scrofa

(B) Bos indicus

(D) Ovis aries

Western Haryana plains differ from the
Eastern Haryana plain because of the
presence of a number of sand dunes locally

known as of varying heights and
magnitude in Western part of the State.
(A) Ghar AB) Bagar

(C) Ghaggar (D) All of the above

This hill has acquired Haryana a wide fame |
as it is believed that Chavan Rishi practiced”
penance here for many years.
(A) Morni hill : 4_5,&% :
48) Dhosi hill .\:*

(C) Gokalgarh

(D) None of the above

Ovulation is the
(A) Process of formation of bone

Process of releasing ova from the
Graafian follicle

(c) Process of release of spermatozoa
from sertoli cell

(D) None of these

1512019 (11)
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(B) @&t wETfeaT
(C) TG
(D) 3 F & F1E T
69, aiSresi HufFe |
(A) T T A
(B) AT Fictiwa @ 378 e
gferan
(C)mmawﬁaﬁw'”f““ #
wfsean
(D) 8 & IS

A1-




u’ b 1wk
g A
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70. Gestation period in'S B0, gar it Aferrn arafil 2.
(po 155 days (B) 114 days (A) 155 (B) 114
for D) 65 f&
(C) 279 days (D) 65 days (C) 279
71. 60% of 264 is the same as 71. 26471 60% forash aum B 7
(A) 10% of 44 _¢B) 15% of 1056 (A) 44 F1 10% (B) 1056 F1 15%
(C) 30% of 132 (D) None of these (C) 132 *1 30% (D) zaﬁ o 1 T
72. Myiasis is 72. W@ R
(A) The Infestation of animal tissue by ticks (A) T T # Forerd 1 T
(B) The Infestation of animal tissue by mites (B) TR3T! ¥ i § A Hl TATHAT
(C) The Infestation of animal tissues by (C) Wit 3 i & wlFE! & A F
the larvae of flies un'[
(D) None of these : @,ﬂﬁg il
P\
73. Which of the following is a crossbréed 733?"?;;1&.1%3 H QY PH-T1 F G AT & 7
_— O wyww B) I fe@
(A) Karan Fries  (B) Karan Swiss . &) ) N B)
(C) Sunandini (DY All of the abave (C) grfet (D) 3 &ft
74. Magazine published by Sam@&ehdemu of | 74. wRanH wife e g0 wEHRE w6 2
Haryana 8 o (A) o T
_A) Haryana Samvad _ W © :
(B) Harigandha ™ (B) wfeTen
(C) Rajanigandha .\ ™ (C) e
(D) Ubharta Haryana (D) 3 ghEmn
75. In the following diagram 2\ represents | 75. R Rumtafm® A\ ‘@ Frawfars,
‘Healthy’, [ represents ‘Old’ and O O ‘gt i ol O ‘et 3 2w
represents ‘Men’. Which area in the e 3
diagram represents Men who are Healthy jhl 5 F HA-HT halil ?‘ﬁ ! ggrfan @
but not old ? we Wgﬁﬁwﬁ’f%
7
A —
(A) 1 (B) 2
(A) 1 ) 2
©) 3 D) 7 © 3 (D) 7
A2-
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. Which
76 among the following is not an

important dialect s
Haryana ? Poken by the people of

(A) Bagri
(C) Panchhadi

(B) Bangaru
(D) Gacchi boli

77. In Ha'YanaLadWarevoltof1845wasleadby
(A) Jodh Singh _AB) Ajit Singh
(C) Jobit Kha (D) Pratap Singh
) 78. Which among the folk dances of Haryana
:. is the most Ancient one ?
(A) Ghoomar _kB) Saang
(C) Khoria (D) Dhamal

pun‘ng the formation of Haryana, number
of districts in the State were

Sortied and Murrah e

(A) Jaffarbadi (B) Toda-
o\

(C) Nili Ravi (D) Mehséna
~ s:‘

. Castrated male pig is known as

(A) Neutor (B) Barrow
(C) Capan (D) Wedder
o acid is

. Conversion of protein into amin
catalysed by

(A) Urease (B) Maltase

(C) Zymase (D) Pepsin

AKT (B) 17
(C) 19 (D) 21
80. The buffalo breed evolved out of cro&,iﬂg‘w,

13-
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76, Preafrfiza & #a-dt gheaon & @ gm0
el s arelt ek wrgeaqot st 481 2 7
(A) sl (B) #TH
(C) vaét (D) Tt el
77. wfemon 1845 ¥ @gan faziE #1 AqA
3 o |
(A) st f&@ (B) Fita i
(C) Sfera @t (D) ward f&@
78. sqﬁﬁam-mzfcmquarégwma
g7
(A) T (B) dIm
(C) @A\, (D) HTA
79. m%m%mﬁ!ﬁhﬁm
(A (B) 17
( ONE) 19 (D) 21
(o, aeh st 4 s e P
T
(A) STHTETE (B) drel
(C) et Tt (D) WEEH!
g1. AgEH T GIH FEA ¢ |
(A) X (8)
(C) I (D) I&
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_ English Language

Direction (Q. No.

if any, wulj bein
number of that

83. (A They never thought

B) that Raja was oldest than other
(C) brothers in the family.
(D) No error

(5) Ganesh, who has been
(8) driving all day,
(C) was extremely tired

(D) and wanted to stop.

from the alternatives given belo
A few people knew the answer;
(A) don’t they \\33

(B) did they é&x
_(Cydidn't they

(D) do they

e
\
Add suitable Question tag to the fothg

89( Choose the correctly spelt word from the

alternatives given below it.

(A) Adviceable
WAdvisable

(C) Advicable

(D) Adviseable

1572019 (4y,
il

U TEOR  —
(A) Tm
(8) &
(©) A
(D) T & =g 7

88, VIl & IR A T A A F 3q7eq o

T e TYFR* B § |
A) R
(B‘gﬁ"o
~gym
\2,
B (D) T & =1 e
o

89. 37 w1 el T’ 1w AT v s
% Jiia T 2 ?

(A) 7§
(B) =¥
(©) v
(D) 8 & =r$ 7

90. WTE, TIE, FE aik
& fore 2 ¥ afly
(8 FiaTEE
(B) UraTTH

(C) WrEas

foraTs v i e
AR ?

(D) ¥H 9 =Y$ 7
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